Create the model from a
given set of parameters

vi = Po+ Pi(xi) + €
ik (0.0)
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Generate observations
from this model
In each trial of the | |y x| |y | |y x| |y
simulation the x-values are N N " "
the same and the y-values 2 Y2 2 |Y2 2 Y2 21 Y2
are generated using: x:3 ]/ 3 x:3 }/ 3 x:3 y 3 x:3 }/ 3
i.1.d.
Yi ~ N(O.Q, 1) Xn| |Yn Xn| |Yn Xn| |Yn Xn| |Yn
Collect statistic(s) of by, R2 by, R2 b R by, R
interest from each trial

Evaluate the distribution

of each statistic of interest

(e.g., plot, compute mean,
sd)




